| Efficiency vs Dxy |
> 0.8
<

o
\‘

efficiency vs d
o
(o)

o
&)

o
w

o
N
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

o
(S

Q
=

Ratiq
&

098 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQMstep3_SMS_CKF
[Efficiency vs Dz | |—s— DQMstep3_SMS_default

V4
=
N

—— DQMstep3_SMS_defaultNEWT

=
!
.

efficiency vs d

o
0]

T T T |
—

o
(o)
T T T |
———
-

7 R - —

J-O-IIII;IIII;IIII;IIII;IIII;IIII

2 Mt

8 - AR *

[0 IO 1] R EEETEE R SRPPPPPPPPL SRR o U 4 R S ST ORI
- &
1:— --------------------- [ EEREE © U0 2 ;-m: L R

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


